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import cv2 #IE{GILEL T A 7 U & A R — b

cap = cv2.VideoCapture(0) #77 2 7 {gE

ret, framel = cap.read() ##) W E% A /)

img1l = cv2.cvtColor(framel, cv2.COLOR_BGR2GRAY)
#0 7 — WA E ) 7 o BRI

img0 = img1 #M LB

threshold = input('Threshold(0<255)? ) #5%k D B fiE
count = 0 #7514k

m=0#10WHa~Eh v

n=0#01WHa~Eh v ¥

k=1##0 K LE

while k <= 6: #6 [Alf§ D R L
ret, frame2 = cap.read() #E{§ A /)
img2 = cv2.cvtColor(frame2, cv2.COLOR_BGR2GRAY)
#07 — WA E ) 7 2 ERICE
if m == 300: #10 Fp72 513
m=0#10 W=~y 2 )T
for a in range(60, 419): #Hi{% O e FH % i B
for b in range(80, 559): #MH14 D RAHFA % R
px = imgl[a, b] #Hi3 (a,b) D JEE
if px > int(threshold): #§# % A BEELL
count += 1 #iH¥ % 1 H°7
print('CP10/3S="+ str(count)) #10 Fb% 1 /)
k+=1# 0 E LE 1HIRT
count = 0 #a1#&z V&>~ k

imgl = img0 #@E % V& v k

ifn==3:#0.1 7 5%
n=0#01BHa~F o 2y 252707
img = imgl + img2 #Mj{§ & i

imgl = img #ME L 7= lifg % KkIZik 5

m+=1#10 A a~HE I v &% 10T
n+=1#0.1BHa~HE I v &% 10T

cap.releaseQ #4 A T % U U — A

B BREEXIES MM OTN >HM > RBRE

W5 1% 0

TV J A& WEB 1 A T EAE DR D
Z LT, MERIZRWHS R ERMTZ D5 2 &
NG Io T,

¥7-. Python iz L5773 735
T, MEICIDENAIRETH D Z e nn, 4%
DICTHEDO—BE L THHFFTX D,

https://www.radi-edu.jp/category/experiment



